 TRAILBGSS

Towbar Fitting Instructions
To Suit NISSAN PULSAR HATCH 06/2001- 01/2006
Part Number DS31
Rating 1000Kg

Ensure all hardware items have been included.

Remove spare wheel.

Remove bumper bar.

Remove rearward most rubber grommet from spare wheel well.
Remove rear muffler from last 3 rubber hangers.

Fit towbar side arms up ends of sub frame to align with holes in body.
Fit all bolts etc as per diagram.

Tighten all bolts to torque listing.

Cut bumper bar as per diagram.

0. Refit in reverse steps 5,3 & 2.

BoOoo~NooO,rwWNOE

RECOMMENDED ASSEMBLY TORQUE LISTING
Diameter Grade 8.8 Bolt

Nm
M6 95
M8 21.7
M10 43.4
M12 77.3
M14 121.0
M16 189.8
\ Page 1of 2 THE WORKHORSE OF AUSTRALIA' STOWBARS | | SSue Date 0210506

N

~




TRAILBGSS N

Towbar Fitting Instructions
To Suit NISSAN PULSAR HATCH 06/2001- 01/2006
Part Number DS31
Rating 1000Kg

2 - LOQSE PLATE
45 x8 x 45 M IHOLE

1-M10 x30 1.6P COACH BOLT
1- M1 0 SWAEBHER
1-M10 x1.5P NUT

1 -LOQEE PLATE

4 MBx261.5PBOLT 45 x 6 x 45 10.6 Sq HOLE

4- M8 8/WASBHER
4- MB F/WASHER

\¥2-M12x351.75PEDLT

1-LUG PDSR1 2- M12 S/WASHER

2-M18 x4520P
2-M18 S/ WASHER

‘_4]|.-_4055

O

R5
BO

O

\ Page 20f 2 THE WORKHORSE OF AUSTRALIA'STOWBARS | 'S€ Date 02/0506 /




TRAILBGSS

Towbar Fitting Instructions
To Suit NISSAN PULSAR HATCH 06/2001- 01/2006
Part Number DS31
Rating 1000Kg

Issue Date 02/05/06

THE WORKHORSE OF AUSTRALIA’STOWBARS

N

~




